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daga cilaylas )
S (£0) Glaie¥) Al S Al 2xe -
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Write all the chemical equations A0 LS DY s Laed) aien S|

balanced including the conditions of Gl do g ol €3 e @it
the reaction: e 904 53 o A

Answer the following questions: s AGY AN e cl
1- Choose to answer (a) or (b) : () 91 (1) (e BalaMi T -
Write the balanced symbolic equation 25 1 W9 5e8! Ty Aalaad) S
that expresses the following: Oe
CH;COO7] [H;0"
@y, K, = [CHICOOT O
[CH;COOH]
NH,"] [OH
b) Ky = [NH,"] [OH'] (o)
[NH;]

2- Choose to answer (a) or (b) : () 91 (1) oo Al W1 4 - ¥
Explain: ¢ —wd
(a) Substitutional alloy can be obtained | &l S e Jguantl (e (1)

from ferronickel. $USd 1y s (0
(b) Titanium element has high melting OLLat) g slgwasd i 5s pladyl ()
and boiling points. $p 5L | punialt
2 atd [ 2]¥]
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3- Choose to answer (a) or (b): () 9 (1) e Al M1 13 -
How to distinguish practically between: S alas 59ud2) (i Lilag \fushaS
(without chemical equations). H(Aokes

Spoold! Ol Sy oyl Silawgd (1)
Sdnal Olowgd g dnall dua g (s_:)

(a) Barium phosphate and barium sulphate.
(b) Silver iodide and silver phosphate.

4- Show by chemical equation, how to Juan S Alibea ST Alalatly g - €
obtain salicylic acid from aspirin. ¥ 0 S| paes e
5- Choose the correct answer : : Asviuall Al NI il -0
ScCl; compound is : :ScCl, oSl
(@) Paramagnetic and coloured. Ostes gastotina s (1)
@ Paramagnetic and colourless. sl b g unloliae b @
@ Diamagnetic and coloured. Osbe g uudaline Lis @
(@ Diamagnetic and colourless. (O3l pud g runlolise Lis @
3 vl 1]
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6- In the equilibrium system: F TN O3 AL B -1
280, + Oz = 2803y, , AH = (-) 280, + Oy = 2805, , AH = (-)
FE5 e WAL S mdl il La
1 G ST ST ES L
S UL LA jum (yo (puomnisS Y1 uoss : ¥ ]
Sdanaatidalyy Lol

What is the effect of the following on the

sulphure trioxide concentration:

First : Withdrawing (removing) the
oxygen from the reaction.

Second: Increasing pressure.

7- Show by chemical equations: Adyyle A Olesd OWaladdly mudy -V
The preparation of benzene in lab; then |28y Sd—eaell 3 (3! pasd
show how to obtain benzene sulphonic Sl galu () pae le dis s

acid from it.

4 MS’I@D
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8- Calculate the time required to Al 1.8 Comu it A3 pa 3 G =A
deposit 1.8 g of aluminum AI*” when Judt ) e Al¥ po—ciagt¥ 318 40
performing electrolysis of molten A1ty CoaS 50 3 picnal (i ¢S
bauxite on passing an electric current st 10 4504 ,L3

of strength 10 amperes.

9- Two organic compounds have the general | Zolah dicall Legt Glag—ae HLiS ro -4
formula (C,H,,), one of them saturated | %19 (A) ariio Leausi (ChHon)
(A) and the other unsaturated (B) (B gun 2
Show by chemical equations how to obtain: |Jw>S <28 4nlest O¥alaally may
First : The saturated compound (A) ‘ole
from benzene. S350 (oo () il oS el 391
Second: Dihydric alcohol from the S a1 (e S 5 e LS I3 LS
unsaturated compound (B). i(B) gttt st
5 Al aals
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10- Choose to answer (a) or (b): (@) 91 (1) e Al W1 i -\ »
Write the name of the organic compounds | ¢le JI Gs—aalt oS rolf pwl OGS
indicated by the following sentence: 1 A B Lalt
(a) the simplest hydroxyl derivative of =~ | 9%#Sssl eheasassuadide o, (1)
. ~ilag !
aromghc hydrocarbon. o 99753 6! ol G dah (0]
(b) the simplest hydroxyl derivative of i
aliphatic hydrocarbon.

11- Calculate the concentration of (= (i 99kl ) (39l 5k 53 i | - )
hydrogen ions of 0.1 M solution of  |o<e> 0.1 M 08,5 Jgtoe
formic acid. Providing that ionization aali Caly ol Lele Lo ”a;t
constant of it is 1.8x 10~ 1.8 <107

6 i
&
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12- Using the table, write the IUPAC names | pu¥! oS/ qudsalt J guandls Uoaliwe -1 ¥

of the two following compounds:

OmiS 3all S0 pLEALY (5 LiaSI1

+ Qe I
Chemical formula IUPAC Name
S el A0 LS Adial! Slaga¥ i allas @uw!
B
H—CEC—(;—(;—H
BrH , whmd g AN T e e\ R
CI
CI
Br

13- On adding concentrated nitric acid to
iron, a thin layer is formed on it which

prevents the metal from further reaction.

Write the name of chemical material

that can be added to remove this layer.

pae> Ledl Lol tuustl (pe dalad clhut -\ Y
s Lgale Aa8 ) Aado C0 9D S pe iy 4
-Jelant lay
05 (S (A LeaiSH S pal ! @l ST
JAGdal ol AN Adals|

7

Al &B
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14- Show the total reaction in mercury Ealant) S Joa Lot Atslae TSt -\ €
cell indicating on it the oxidation and | cides lede Lnidge (G031 Ads 8

reduction processes. JIF N g BuusY

15- Choose the correct answer: + Avoual| Al W1 i) -1 0
The 0.1M solution which contains a e gz gty 0.1 M%S,u 31 Jstonal
higher hydronium ions is: ke 50 0928908l Sligal G oS 5 e
(@ CH,COOH CH,COOH (1)
(® NaCl NaCl @
(© Ba(OH), Ba(OH), @

KBr KBr
@ ®

8 MS’I@D
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16- Choose to answer (a) or (b): (@) 91 (1) o Al ¥y -1 1
Show by chemical equations how to | Je>i S 2oL S¥slaal iz
obtain: role
(a) Sodium benzoate from toluene. (099l e pgasgeal Slasis (1)
(b) Benzamide from benzoic acid. PR phe Gt el (5

17- Show by chemical equations how to A La S O s laet b g - VYV
obtain: 309532 (0 0839 pill ole Jrusan oS
Propanone from 2- bromo propane. 0k
9 Al 1]
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18- The opposite figure represents the 1 T S - VA
electroplating of metallic rod by a 2 pews Aoy Ads (e ey
layer of silver. -Anal (e Adday Addae Blw ¢ Mo

I
AgNO,

First : What occurs in the electrode S e (B) cotaatr ey 13l <3y
(B)Write the chemical equation AileaSI Alslasd)
Second: Calculate the mass of silver st g yTal) Aiadl) ALS cumunl gl il

0.1 Lo 508 2y 5531 (g0 S 5950

deposits on passing a quantity Ag = 108 oL Lete cotaiyts
. = 3 (sl

of electricity of 0.1 Faradays
[Ag=108].

10 MS’I@D
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19- Choose to answer (a) or (b) : () 91 (1) He Al ¥ 4u3-14
Werite the scientific expression indicated | : 3,4 ole JIa gelall gllawat) cas|
by the following sentence: Aoy Z8LATI o g3 g3 @ 2ot (1)
(a) The systems which convert the stored | I 0= =se% 23Le ! “"f""“’ !
chemical energy to electrical energy |7 ¢ ISl dnsigelas

: : el
through a spontaneous irreversible ; 7~
o) 482 e 508l Lgt L1 Baled AL, ()

oxidation-reduction reaction. )
LS QB}}SJ?' O ..\:-|3 J}A s,vLuJS‘

(b) The mass of the substance that has the

. . .«‘:,-“:m:&ﬂ‘}c\.é:d‘
ability to lose or gain one mole of the
electrons during the chemical reaction.
20- Choose the correct answer: ¢ Aomouall Al W1 05 Y

ortho-Chloro methyl benzene can be| : i @i (s s 95888 5351 oS ol
prepared by:

Reduction of phenol; then

halogenation of the product. il o3 Jondll J1 @
@ Halogenation of toluene. Rt slall dinta @

Reduction of phenol; then
alkylation of the product.

(@ Alkylation of toluene. nstsnasi (3)

- ol AT @8 Jgiatt g1 @

1 1 Al 1]
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21- Write the name of the salt: ¢ ell) el SSH Y
A salt solution with silver nitrate forms | o/ Jstos 4l arsinls Jolos
a black precipitate and by passing U8 e 3l agl cenaly 0gSEB dunal!
hydrogen sulphide gas through it in hedl s Jgboma 8 (g -l b S
acidic medium by hydrochloric acid 0555 HsSosiaed! phamy phened]
forms also a black precipitate. sl agul culy

22- Choose the correct answer: + Aovouall Al W1 050 =YY
Glycine is an example of: s polen Y1 dliial (e (paa Shnd | iy
@ Hydroxylic acids. AbeuS 9 )rgl! @
(® Amino acids. a¥! @
@ Aromatic acids. Jaile gy @
@ Fatty acids. Aca) @

23- Explain: ¢ pwd =YY

Methyl orange is not used to distinguish | it =2 IS 3 Joiead | puiins ¥
between sodium chloride solution and | ©biuwly psaagall i )slS I slos (o
ammonium acetate solution. pggadl

12 MS’I@D
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24- Explain: T
The fuel cell differs from the other LM (30 L ol (g 258 98 Gulss il
galvanic cells. Jaolatat

25- Choose to answer (a) or (b): ((0) 91 (1) e Hala¥1 53 Y0

ke Juav S AdLueSI O¥ alally iy
S0t (e il 9a,SH e (1)
SOL (e il 9o L5 -2, 1 (@)

Show by chemical equations how to obtain:
(a) Carbolic acid from benzene.
(b) 1,2 dibromo ethene from methane.

13 Al 1]
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26- 10 g of impure KOH sample was KOH (o 2a 5 aie (oo 10 g cani -1
dissolved in water and completed 500 ml 1) gyttt Jasiy slatt 2
to become 500 ml. If 10 ml of this o Jotmatttiis e 10 Ml gabas Lo
solution neutralized with 15 ml of 0.2 | <5556l > Jstove ipe 15 ml
M hydrochloric acid. Calculate the 0.2 Mojs,s
percentage of KOH in the sample. At » KOH A G
[Providing: K=39,0=16,H=1]  |(K=39.0-16 . H-lichie)

27- How to distinguish practically ELCL pS paa (s Llas judd S - YV

between diluted sulphuric acid and | S, Lo ,S3 (e g aast
concentrated sulphuric acid by using | z«esd! g Siauad! pladiuly
iron. Write the chemical equations. - 40k OY slatly

14 MS’I@D
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28- Choose to answer (a) or (b) : () 91 (1) e Ayl N1 45 - YA
Write the scientific Expression 1)kl ple JId pelalt mlladathccS!
indicated by the following sentence: (el Dl lgsd ol ) o liadl (1)
(a) The elements in which the sublevel 59401 5 05 4d e

Al e J gt Lgie Laugdl ades) (o)
Adee cwliS cust als (40 8 o

(4d) 1s filled successively and they
are found in the fifth periods.

(b) The process of obtaining the iron ore AR
in a small size suitable to be reduced
easily.

29- Choose to answer (a) or (b) : () 91 (1) e Ayl ¥ pu3 - Y4
How to detect practically by using g Ala ¥ i il Lilee 2 585 oS
the main experiment, explain by il Aalactly e gt
chemical equation: $p. 94 ISI 9518 (1)

(a) Calcium cation. $(AD) st st ()
(b) Iron (II) cation.

15 Al 1]
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30- Choose to answer (a) or (b) : 1(22) 91 (1) (e gl W1 s -1+
Explain: i
(a) The law of mass action is applied On | Jgioe te 2GS Jad (5518 Godais (1)

ammonium acetate solution and 1S NOt | yyioe te G dats ¥g a5 5031 Sl

applied on sodium chloride solution. g3 3uall i y5lS
(b) The reactant molecules could colloide | . i tanan sigatr citis i putass 1 (o)
with each other and no chemical ol s ¥ g Lo

reaction takes place.

31- Choose the correct answer: ¢ Aovouall Al W1 st -
Dilute hydrochloric acid is used to o abn el )5S g sl | e put i
detect the anion and cation: (0918 9 (901 (ye adsIf B

(@) Carbonate and calcium. paallsly Glisa,stt ()
(®) Nitrite and silver. ity ca 2 ()
(©) Sulphate and mercury. Gy Gl ()
(d Phosphate and lead wmlie My Slausatt ()
32- Explain: A (9l (B Gl ) g -YY

The colour change by heating nitrogen | gsiow G-tie oala) 893 (b
dioxide gas which is in a closed glass | ax s o8 s gyt i wsSi it Lo

flask at room temperature. Write the A3 laally s 9l go (4B pal) 3yl o
chemical equation. A0 LS
1 6 prm [ 2]¥]
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33- Choose the correct answer: : Aomouialt Aala W1 ) - Y'Y
The ions which have the electronic &M?‘%ﬂ'w@'ébx?
configuration [Ar], 3d* are: s [Ar] ,3d
@ Mn®" / Co** Mn*"/ Co®" @
® Fe**/ Crt Fe"/ et @
© ' Mo cr/ Mot @
@ Fe*/ Mn* Fe'/ Mo’ (3

34- A galvanic cell consists of zinc electrode | (el (o Laldad A_olaty A ds -Y'¢

and standard hydrogen electrode. 1 L@l (e 9 gl
First : Write the cell diagram for this | -231ee? oM ¥! 5,01 cas! - ¥
cell. I3 (A3l 2r oS ZaBId| 5 gt ) ! LA
Second: Calculate the emf of this cell. | o+ eubdIJadlige ols
If the standard reduction 2152 (0.76)
potential of zinc is (-0.76) vollt.
1 7 Al 1]
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35- Complete the table :

L J ot JaST -Y0

polymer
et 9

Type of polymerization
5 pald! g9

Structural formula of the polymer

JOR U WALRIE PORY

Dacron
RYSE

Teflon
Oslaid

36- You have a piece of leather, show by
a practical experiment how to detect
the presence of carbon and hydrogen
in the structure of leather. Write the
chemical equations.

O Llee ol S Ao (pe Aakad Lot -1

O (i 95l 9 O9=2 55T (G pmimriis

S alaatly s s ae Sl oS 5 2
LA LS

18
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37- Choose to answer (a) or (b) : (@) 91 (1) o Al ¥y -Y'V
Write the scientific expression oo JIad malall zllaal! cIS)
indicated by the following sentence: + 3 leat)

(a) Determining concentration of known | 3:e 0= ps-tas e 52855 (al (1)
volume of substance by using another | > & 02+ #9583 A glas:
substance known its concentration Sl
and volume. Ot ol 58 5 1 p glas Jglomes ()

(b) A solution of known concentration is a5 Cahaiiaatalle
used to determin the concentration of
unknown solution.

38- Using the following table how to e 28 I St adls Luaiwe - A

distinguish practically between: 1o Liles

Ethyl alcohol and dimethyl ether O9) -deeed! LB il A1 J st
: . . (AuileasS O¥alas

(without chemical equations)
Reagent Ethyl alcohol Dimethyl ether

kST LN JgmSI ! et LS

1 9 vl 1]
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39- Choose the correct answer:
In the opposite figure:
The (K¢) value is:

@ Equal one.
@ Greater than one.

@ Equal zero.

=S d1 conc.

+ dovouall Al N i -Y4
1 Jalaell JSA B
{ Kcz-"-.ﬁ-z"

RECNP L RT-P| PPy @
a9l (pe 41 @

e golud @

19!

Products

OMelat !
Reactants

@ Less than one.

40- Explain:
Iron that plated with tin corroded on
scratching faster than iron.

A 911 (ype JB @

e time

t)-ufﬁ-i .
MEMHL:“;_UA.«JM.L,)_LQJ“..M:'
e Jmay (Bt

41- Calculate Kgp of calcium fluoride,
CaF;: Providing that the degree of
solubility is 2x107* M.

Ao (ST U ygld Jolonald Ksp cews ) =€
A0bed Ay o Cale 131 Cal,
2% 10" M gy ebadt

20
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42- Explain: ¢ pwd - €Y
On adding magnesium sulphate to M A i L3 | Sl S J s ALY i
sodium bicarbonate solution, the ppt. is | =2 995 sl ShansSes Jsine
formed after heating. ol

43- Choose to answer (a) or (b): () 91 (1) oo Al W1 i -£Y
Show by chemical equations how to S Antlel S¥aladly gds
Obtain: was oYLl e (1D hu.:’:)jsa;;

(a) Iron (II) chloride from iron (II) oxalate. | ” e*(II)
(b) Magnetic iron oxide from iron (III) S 5 3t (8 st Lk st ST ()
hydroxide. s(II) wwus
21 Al aals
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44- Show by a chemical equation: ¢ ADLeadSH Aralaally prudg - £ £
The effect of nitration of 1,2,3- S grien A8 =32, 1 5,0 55
trihydroxy propane, then write the name | e3bd! cS ot et cist @5 . 0lag
of the product, and its importance. iy

45- Explain by a practical experiment e S 55 sl A ol sl - €0
the effect of concentration on the T sl g (A leeSH Jo i) Judae
rate of chemical reaction. -0l st Aalatly

Write the chemical equation.

Al cgid
22
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